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The decimal value of the 2’s-complement binary number 11011011 using 8 bits
(including the sign bit) is

(A)37 (B)-37 (C)219 (D)-219
The number of colors a video card can display is determined by its
(A) pixels (B) hertz (C) woofers (D) bit depth
Web sites that allow for personalization often use to track user
preferences.  (A) cookies (B)spam (C)worms (D) crackers
To convert an assembly language source program into machine language, a(n)
isused. (A) loader (B)compiler (C)assembler (D) interpreter

sort has no every-case time complexity.
(A) Selection (B) Bubble (C) Quick (D) Exchange

. FFHFA?% (30% > L fH 10%)

Show the number of comparisons required for sorting the list of the numbers {17,
3, 20, 32, 11, 15} by using each of the following sorting algorithms:

(1) bubble sort
(2) insertion sort

How many different binary trees can be generated by four nodes?

Assume that there are 31 data items recorded in array X. How many passes, in the worst
case of using binary search method, it will take to find out a specific data item in array X.
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